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= 210,244
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= 1,416,233
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= 79,615
S SAHI 2Y 5,000 16,000 A 11,000
206 M=l 5,000 16,000 211,000
01 M Z 4l 5,000 16,000 A 11,000
o sAM F2 2,500,000 * 2942 5,000
3 Hlw 8ANE 29 4,048 4,010 38
101 214yl 724 710 14
04 JItHI22 S E+ 724 710 14
o MAIZ 2e| 38,000 * 19 » 174 646
o JUHEE= 646,000 * 12% 78
201 L Br2FH| 1,700 2,100 A 400
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<gxz > 0
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01 =4l 1,624 1,200 424
o 3X, Hlg, s¢¥ & #*¢ 324,800 * 5& 1,624
L2 RSB SAME 2H 2,000 2,000 0
206 = Hl 2,000 2,000 0
01 HZ I 2,000 2,000 0
o X, s ¢ 1,000,000 * 29424 2,000
L FSE0E Y st 43 AlE 1,500 0 1,500
206 M=l 1,500 0 1,500
01 MHZ 4l 1,500 0 1,500
o sAM F2 75,000 * 10ha * 23l 1,500
ol MEt et =20 =& WM SAHX 29 3,000 0 3,000
206 =l 3,000 0 3,000
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01 TH= 4l 3,000 0 3,000
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206 i = H| 4,000 4,080 A80
01 THEHI 4,000 4,080 A80
o XSBXH & 2,000,000 * 20 A 4,000
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101 2124 d| 1,022 993 29
04 J|12HHZ2E2NSE 1,022 993 29
o llslidsd g L 22
38,000 = 29 * 12¢ 912
o JUEEZ 912,000 * 12% 110
201 B2 H| 1,645 1,320 325
01 At 2teltl 1,645 1,320 325
< YBt=ZH| > 0
o 2PEARE ¢ 345,000 * 15 345
< AXE > 0
o flsXd=se EX Xt 700,000 * 1JH A 700
o llsld=se &Y fEE 150,000 * 43| 600
206 i = | 400 440 A40
01 XHEHl 400 440 A40
o flsidsy & 40l 2
200,000 * 23| 400
= S S XN EXH 4,000 4,200 A 200
206 i = 4l 4,000 4,200 A 200
01 THE I 4,000 4,200 A 200
o A=K 2 2,000,000 * tha * 23] 4,000
El0IEY LYMASK SAE 3,000 3,000 0
206 i = H| 3,000 3,000 0
01 M=l 3,000 3,000 0
o sAM 72 1,500,000 * tha * 23] 3,000
I H A= A" 100,000 0 100,000
= 50,000
= 50,000
402 BI2H X201 ™ 100,000 0 100,000
= 50,000
= 50,000
01 QIZtX=28 X 100,000 0 100,000
o RI| B iD= MY
100,000,000 * 1JH A 100,000
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= 8,300
= 8,300

101 Q1 24H| 5,700 4,568 1,132
= 2,850
= 2,850

M4 IIZtHM22XNSES 5,700 4,568 1,132
o Hills A 29 22X 5,700,000 * 1H 5,700
= 2,850
- 2,850

201 LEr2 | 3,600 5,662 A2,062
= 1,800
= 1,800

01 AtR22t2ldl 3,600 5,662 N2,062
< et 2ZH| > 0
o AlZXSHIIE X2 MZE 1,500,000 * 13 1,500
=2 750
= 750
o MEEEA ¢ 150,000 * 3& 450
= 225
= 225
o YWills&ca 25 A= 45,000 = 105 450
=2 225
o 225
< Iol=dl > 0
o YollsH&Es 2 100,000 * 5% 500
= 250
- 250
< AXE > 0
o (EY 2<% f/EH| 175,000 * 43| 700
= 350
iy 350

206 T2l 1,500 1,770 A270
2 750
= 750

01 24l 1,500 1,770 A270

o Yolls s 29 Mg 7

150,000 * 105 1,500
= 750
o 750

301 et2a=d 3,800 2,000 1,800
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= 7,900
2 1,900
10 S AFAIH| & AL 2,000 2,000 0
o MRS It HASA 20,000 * 100 2,000
= 1,000
2 1,000
12 JIEt2 A2 1,800 0 1,800
o HilE REE 2% SolEA3
300,000 * 6IH 2 1,800
= 900
2 900
405 Xt &HE St 2,000 0 2,000
= 1,000
2 1,000
01 KAt U S EH S| 2,000 0 2,000
o HHEBUER UNLIIH 7L
700,000 * 1CH 700
= 350
2 350
o NESE5) 7Y 650,000 * 25 1,300
= 650
2 650
ZHAA 29 8,000 7,200 800
206 T 2 b 8,000 7,200 800
01 T2 bl 8,000 7,200 800
o MI| 29 AT JtA 2 200,000 * 5 1,000
o ICPIl 29 A2 JhA Do 400,000 * 8S 3,200
o 2HAIS Y 100,000 * 383 3,800
EYATA 29 8,600 11,040 7,560
= 9,300
2 9,300
101 Q1214 6,080 2,106 3,974
= 3,040
2 3,040
PIENEE =P 6,080 2,106 3,974
o EYAIA 2Y BX ANy
6,080,000 * 1% 6,080
= 3,040
2 3,040
201 L2 Y| 4,520 1,500 3,020
= 2,260
2 2,260
01 At 22|t 2,520 1,500 1,020
< yPragy > 0
o EYAFARY ADE 252,000 * 105 2,520
= 1,260

- 452 -




M s€lis4dH
M sYol=He

el ARXES AN BENE CEERE]
_ _ _ Muo
SN FH-S(B) - MPAY - BHES Ofl &+ o4 il i~ o HRz2
= 1,260
2 2B 2,000 0 2,000
< NEBHIRXY > 0
o EYANM 2% FUIKX 400,000 * 5CH 2,000
2 1,000
2 1,000
206 T ZHl 8,000 7,434 566
2 4,000
2 4,000
01 THZHl 8,000 7,434 566
o MII 29 A2 JtA Y 200,000 * 55 1,000
2 500
2 500
o IPI| 29 A8 JhA TY 400,000 * 55 2,000
2 1,000
2 1,000
o EMAY Y 100,000 * 505 5,000
2 2,500
= 2,500
S SHTH N 50,000 0 50,000
z 25,000
2 25,000
405 Xt &t 3 S 50,000 0 50,000
z 25,000
2 25,000
01 AR EBH St 50,000 0 50,000
o B84+ NXJ 7Y 15,000,000 * 1CH 15,000
z 7,500
2 7,500
o £ 2LEHNY 7Y
15,000,000 * 1CH 15,000
z 7,500
2 7,500
o AR BAFH AY 5,000,000 * 45 20,000
z 10,000
2 10,000
B4 MIIEEE 294,878 532,446 237,568
2 39,064
2 255,814
DA 4= 5 I HEIISAY 6,250 0 6,250
402 BI2E X201 H 6,250 0 6,250
01 I2AXREE 6,250 0 6,250
o NSNZIY WA MHI| gx|
2,500,000 * 544 * 50% 6,250
2% 424 28 23 2,500 2,000 500
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206 M= 4l 2,500 2,000 500
01 M Z 4l 2,500 2,000 500
o A =2+ BE 3= 2,500 = 1,000= 2,500
BEIE ZENSS MEAY 208,000 208,000 0
402 QIZEX20| M 208,000 208,000 0
01 QItXt=2E X 208,000 208,000 0
o IS HIJtE A4
250,000,000 = 1.3ha = 50% 162,500
o 2 I & 7,000,000 * 10CH = 50% 35,000
o 28 otRA 10,500,000 * 2JHA * 50% 10,500
ZDSE ZE MUHT SHAE 78,128 0 78,128
= 39,064
= 39,064
402 BI2H X201 ™ 78,128 0 78,128
= 39,064
= 39,064
01 QX2 E X 78,128 0 78,128
o ZNEE ZT MAMHI 4
78,128,000 * 1702 78,128
= 39,064
= 39,064
MW MIIsES 401,000 364,000 37,000
= 50,000
= 161,000
L= 8,000
i 182,000
= 0= HEMU 2= 45,000 0 45,000
307 21zZtol ™ 45,000 0 45,000
02 gzt atex 45,000 0 45,000
o = IF HEME SUHES
6,000,000 = 15ha = 50% 45,000
AHG XFE S CI| |4 230,000 270,000 40,000
= 161,000
= 69,000
201 fEt2Ad| 1,500 0 1,500
= 1,050
= 450
01 AtR2tel 1,500 0 1,500
< guagy > 0
o Ws d ALE AAl 500,000 * 33 1,500
= 1,050
= 450
301 et2 a3 1,000 0 1,000
= 700
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SN-EHH S (3H) - HEAY - BES Off &k il i~ o Hnz2
402 B2 XH2 0| & 16,000 0 16,000
= 8.000
2 8,000
NIEENEEES 16,000 0 16,000
o FAUXE 2T SHES 22
20,000,000 * 104 + 80% 16,000
= 8.000
2 8,000
Z2EA 018 LI B 4 0,000 0 10,000
207 AR 10,000 0 10,000
03 A& & b 10,000 0 10,000
o D2E2A 018 B BE Y ASNE
1,000,000 * 105 10,000
CE VP 300,000 12,500 287,500
z 150,000
, 2 150,000
DAS RYSH MBI 300,000 0 300,000
=l 150,000
2 150,000
402 212X+ 0| H 300,000 0 300,000
=l 150,000
2 150,000
=TS 300,000 0 300,000
o DAS KU MAIIBEY
300,000,000 * 17§ 300,000
=l 150,000
= 150,000
DE SSXT oF MY 37,000 37,000 0
= 6.000
= 31,000
g MSMASH HLAY 2,000 2,000 0
= 6.000
2 6.000
402 B2 XH2 0| & 12,000 2,000 0
= 6,000
2 6.000
01 QIR =B 12,000 12,000 0
o dEN2 MASH Y
5,000,000 * 142 * 80% 2,000
= 6.000
2 6.000
HATHENAL 22004 Al 15,000 25,000 £10,000
402 212t 20| 15,000 25,000 £10,000
01 QIR =T 15,000 25,000 £10,000
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SN -3H - S2A(2AH) - NRAY - BE= Ofl &4 Ol AF o8 HusZ
o HATHHIAL 20K
10,000,000 * 34 * 50% 15,000
HAS SHASHE 22 Al 10,000 0 10,000
402 BI2+XHE 0/ F 10,000 0 10,000
01 QAR =SB E 10,000 0 0,000
o MAS SMABTSUBAIH
5,000,000 * 4742 * 50% 10,000
AEH SMES 84 204,000 48,000 156,000
= 74,000
= 130,000
NHElE S ASAY 10,000 0 10,000
207 &1 IH 2| 10,000 0 10,000
03 Al &1l 10,000 0 0,000
o dH2IR T ASAY WE
200,000 * 105 * 53] 10,000
SEX PYES HY AlE 10,000 5,000 5,000
207 &1 2| 10,000 5,000 5,000
03 AlE &t 10,000 5,000 5,000
o AlE SXH R 100,000 * 105 * 108 10,000
NAEUE ASst Al 144,000 0 144,000
= 54,000
2 90,000
402 QI+ XHE 0| E 144,000 0 144,000
= 54,000
2 90,000
01 RIRHERE 144,000 0 144,000
o XYSBUES ABBAY
180,000,000 * 174 * 80% 144,000
= 54,000
2 90,000
HIZIS AETHEE AlES 40,000 0 40,000
= 20,000
2 20,000
402 QI+ XHEOIF 40,000 0 40,000
= 20,000
2 20,000
01 QIR =S E 40,000 0 40,000
o H2lR AlETHH Al
50,000,000 * 1§ * 80% 40,000
= 20,000
2 20,000
EM2DISS XY FA 144, 160 232,160 £.88,000
2 28,580
= 17,000
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= 98,580
ITE#E SAEZE 22 A 3,500 0 3,500
402 212201 & 3,500 0 3,500
01 QIR =R 3,500 0 3,500
o ITE2E SABYV2IAY
3,500,000 * 2JH A * 50% 3,500
S RE0IMES H4a Al 30,000 50,000 220,000
207 A <1 OH I 30,000 50,000 A 20,000
03 Al & 4] 30,000 50,000 220,000
o DIMZ WX 2 S 500,000 * 45 153 30,000
day sapela 29 7,160 7,160 0
= 3,580
= 3,580
101 212 dl 2,850 1,844 1,006
= 1,425
= 1,425
04 JAR22NS2 4 2,850 1,844 1,006
o #&
2,850,000 » 1H 2,850
= 1,425
= 1,425
201 gEt24Ey 2,000 2,000 0
= 1,000
= 1,000
01 AtR2tel 2,000 2,000 0
< gprag 0
o oY, BEES M 200,000 = 108 2,000
= 1,000
= 1,000
206 M= 4l 2,310 3,316 A 1,006
= 1,155
= 1,155
01 =4l 2,310 3,316 A 1,006
o Fhh2t 231,000 = 108 2,310
= 1,155
= 1,155
&2 2 15,000 21,000 26,000
402 21 2EXHE0 15,000 21,000 6,000
01 8ItX= 8 15,000 21,000 26,000
o gz 2
,000,000 * 1JH2 * 50% 15,000
Jlsd $Si= 50,000 0 50,000
= 25,000
i 25,000

- 458 -




S SIS HE
= RIS
CHol EAS D5 AWM SA CERCE

SH M HA(FA) - HRAE -

0x
I
=
[
12
2
R
12
o
£l
0l%
IS

el

402 QI 2tXH201 A 50,000 0 50,000

25,000
25,000

M
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22,500 0 22,500

9,000
13,500
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207 &R IH 22,500 0 22,500

9,000
13,500

EUNGH

EREEE 22,500 0 22,500
o RBIMES HHYHE
150,000 * 10Z * 153 22,500

9,000
3,500
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el
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P
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8,000 0 8,000

4,000
4,000

Mk

402 QI 2t 201 A 8,000 0 8,000

4,000
4,000

M

01 BIZtAI2E = 8,000 0 8,000
o ME2 AIZ&=2 MEXL Z&8AE
10,000,000 * 1202 * 80% 8,000

4,000
4,000

S0

Mk

=SS MH2Jls A3 463,624 463,891 N267

25,000
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M

2R 25 322,000 312,000 10,000

201 gEt24Ed| 2,000 2,000 0
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01 At 2teltl 2,000 2,000 0
< et=EHl > 0
o ZE 4&X 29l 2,000,000 * 1JH=2 2,000
307 gI2toI A 210,000 200,000 10,000
05 QIZt2E 2 210,000 200,000 10,000
o SH T=2YH ZBAXHE ZRML =Tt /&
300 = 700,000= 210,000
401 A& HIZ 2 0HYHI 110,000 110,000 0
01 A& HI 110,000 110,000 0
o ZLXH AIF2e 10,000,000 » 11SH 110,000
2HAAE 2 9,905 10,178 VAVIK]
101 @124 d| 3,405 3,178 227
04 J|12HHZ22NSES 3,405 3,178 227
o WARTNARS SIS 2
38,000 » 8 * 102 3,040
o 4 EE& 3,040,000 * 12% 365
201 LBer23 | 1,000 1,000 0
01 At 2teltl 1,000 1,000 0
<2dg > 0
o AR ZAt=E 100,000 * 103l 1,000
206 M = 4| 5,500 3,500 2,000
01 M Z 4l 5,500 3,500 2,000
o a3z Mzl 100,000 * 25& 2,500
o A3l M=l 300,000 = 10& 3,000
Ordistizs &8s & 52 =4 10,000 0 10,000
201 B2 | 3,000 0 3,000
01 At 2teltl 3,000 0 3,000
< gdetagH| > 0
o =2F 7Y 200,000 * 53| 1,000
o WMHE % W F 500,000 * 23| 1,000
<24 > 0
o LAY 100,000 * 103l 1,000
206 M=l 4,240 0 4,240
01 M Z 4l 4,240 0 4,240
o {3 AsSME F& 40,000 » 58 * 103 2,000
o dAlal MMz 72 224,000 = 103 2,240
301 LEE A= 2,760 0 2,760
10 HAIAHIE &2 2,760 0 2,760
o MAl3l 324 50,000 » 30& 1,500
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o Al #E& IANBA 7,000 » 60Y « 3 1,260
MASANEE 2Y 38,236 25,960 12,276
101 Q1 24H| 7,151 6,673 478
4 IIZtHM22XNSES 7,151 6,673 478
o ASAYEIE e 38,000 * 69 * 28 6,384
o JIBE= 6,384,000 * 12% 767
201 82| 20,085 5,500 14,585
01 AR 22l | 1,500 5,500 A4,000
< Yet=2ZH| > 0
o HZE MH 50,000 * 204 1,000
< IOl=d| > 0
o ASAEE 22EYS 100,000 * 5% 500
02 S32gH| 18,585 0 18,585
< A= Hl > 0
o ASAIEE 2AILIEIE RF
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977,800 * 10 9,778
207 A ORI 11,000 12,787 N1,787
03 A& A | 11,000 12,787 N1,787
o ASAEE 2% W2
180,000 * 105 * 5IHA 9,000
o AIZMA THHE S8 22249 AsSHa
2,000,000 * 1I9H2 2,000
H2 ASAIYZE 23,341 55,767 N 32,426
101 2124 H| 5,108 4,767 341
4 II2ZtHM2E2XNSES 5,108 4,767 341
o ASAEI e 38,000 = 152 * 8L 4,560
o AUIEE = 4,560,000 * 12% 548
201 82| 2,233 5,000 N2,767
01 At22t2|d| 2,233 5,000 N2, 767
< dBt=2H| > 0
o ASAEE EZEMH 446,600 * 58 2,233
207 A FOHEH| 16,000 10,000 6,000
03 AlE A Y| 16,000 10,000 6,000
o ASAEEL 2Y =
100,000 * 20& * 83 16,000
D) Y 2R 2= MABZ 10,142 9,986 156
101 Q1 24H| 2,128 1,986 142
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03 Al& & 2H| 8,014 8,000 14
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< pt=EH| > 0
o SEgsd 2Y =+ 100,000 * 308 3,000
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= 4,000
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<gxz > 0
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